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In the formula X=5YZ2, X and Z have
dimensions of capacitance and magnetic
What are the

dimensions of Y in SI units ?

field, respectively.
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A plane is inclined at an angle a=30° with
respect to the horizontal. A particle is
projected with a speed u=2 ms L from
the base of the plane, making an angle
B=15" with respect to the plane as shown
in the figure. The distance from the base,
at which the particle hits the plane is close
o :

(Take g=10 ms ~2)
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Options:

1 14 cm

> 18 cm

20 cm

26 cm
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L 14 cm

5 18 cm

z 20 cm

2
” 26 cm
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The time dependence of the position of a

particle of mass m=2 is given by

o “ g Ak
r (t)=2t: -3t j. Its angular momentum,
with respect to the origin, at time t=2 is :
Options:
1. 36 k
M
48 k
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Two blocks A and B of masses m, =1 kg
and my=3 kg are kept on the table as
shown in figure. The coefficient of friction
between A and B is 0.2 and between B and
the surface of the table is also 0.2, The
maximum force F that can be applied on B
horizontally, so that the block A does not
slide over the block B is :

[Take g=10 m/s?|
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Abulletof mass 20 g has an initial speed of
1 ms 1, just before it starts penetrating a
mud wall of thickness 20 cm. [If the wall
offers a mean resistance of 2.5 10~ 2N, the
speed of the bullet after emerging from the
other side of the wall is close to :

Options:



1 0.7ms !

5 03 ms 1

1
= 0.4 ms

4 0.1 ms !
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A solid sphere of mass M and radius R is

divided into two unequal parts. The first

¥

and is converted

part has a mass of

into a uniform disc of radius 2R. The second
part is converted into a uniform solid
sphere. Let [, be the moment of inertia of
the disc about its axis and Izbe the moment
of inertia of the new sphere about its axis.
The ratio I,/ I, is given by :

Options:

1 140
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A metal coin of mass 5 g and radius 1 cm s

fixed to a thin stick AB of negligible mass
as shown in the figure. The system is
initially at rest. The constant torque, that
will make the system rotate about AE at

25 rotations per second in 5 s, is close to :

A

c | %
B
Options:



4.0%10 °Nm

7.9% 106 Nm
1.6% 10 "> Nm

4 2.0%x10°Nm
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A spaceship orbits around a planet at a
height of 20 km from its surface. Assuming,
that only gravitational field of the planet
acts on the spaceship, what will be the
number of complete revolutions made by
the spaceship in 24 hours around the
planet ?

[ Given : Mass of planet=8 x 1022 kg,
Radius of planet =2x 10° m,
Gravitational constant G=6.67 x 10~ 11
Nm?/kg?]

Options:

1 13

5 17



4 11

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e U 1 9de 9 20 km F9TE WU aieaH
U & Ufd: Fa H gH @ g A g W fHE
g &1 MEEE 3 99El § 91 IF g0
24 hrs H 014 T4 QL =R 1 = H °9H
e :

[ oz %, 2 =1 geaHm =8 x 102 kg,

TE & Be=2%10°m,

e A G=6.67x 107 ' Nm?/kg?]

Options:
1 13

5 17

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

s [ 245 ueHl s -l 24@lEl 20 km
Gaud uboumel 52 9. [Eaud Gy AsHL 55
ageasl v 2 52 5 du Al dl B
24 sesHl el zd sedl wlRamell szal?

[ as g =8x 102 kg,

Ul Blsedl =2x10° m,

zeets™l 2nis G=6.67 x 10~ 1 Nm2/ kg?]

Options:
1 13

5 17



4 11

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The elastic limit of brass is 379 MPa. What
should be the minimum diameter of a brass
rod if itis to supporta 400 N load without
exceeding its elastic limit ?

Options:

L 1.00 mm

5 0.90 mm
2 1.16 mm

i 1.36 mm
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1 1.00 mm
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1.00 mm

5 0.90 mm
2 1.16 mm
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Water from a tap emerges vertically

downwards with an initial speed of
1.0 ms~ !, The cross-sectional area of the
tap is 10”4 m?. Assume that the pressure
is constant throughout the stream of water
and that the flow is streamlined. The
cross-sectional area of the stream, 0.15 m
below the tap would be :

(Take g=10 ms~2)
Options:

1 1x10 > m?

2x10 2 m?
5x10 4 m?

5x107 3 m?
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One mole of an ideal gas passes through a

process where pressure and volume obey

- N
the relation [’=l’o{l i{\—“] ] Here P
- "'|.

and V ., are constants. Calculate the change

in the temperature of the gas if its volume
changes from V_ to 2V .
Options:
1P,V,
, 2 R
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When heat Q is supplied to a diatomic gas
of rigid molecules, at constant volume its
temperature increases by AT. The heat
required to produce the same change in

temperature, al a constant pressure is :

Options:
2Q
1 3
2Q
o 5
2
—Q
z 3
‘}r
~Q
4 2
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A submarine experiences a pressure of

5.05x 10°Pa atadepthof d, inasea. When
it goes further to a depth of ::12, it
experiences a pressure of 8.08 x 10° Pa.
Then d,—d, is approximately (density of
water=10" kg/ m” and acceleration due to
gravity =10ms~2):

Options:



1 300 m

5 600 m

5 500 m

i 400 m
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5 500 m

5 400 m
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A source of sound S is moving with a

velocity of 50 m/s towards a stationary
observer. The observer measures the
frequency of the source as 1000 Hz. What
will be the apparent frequency of the source
when it is moving away from the observer
after crossing him ? ( Take velocity of sound
in air is 350 m/s)

Options:
, 857Hz

> 1143 Hz

5 /20Hz

4, 807Hz
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In free space, a particle A of charge 1 pCis
held fixed at a point P. Another particle B
of the same charge and mass 4 pg is kept at
a distance of 1 mm from P. If B is released,
then its velocity at a distance of 9 mm from
Pis:

lake = 9x10? Nm2C™2

dre
Options:

; 3.0x108m/s

5 2.0%10° m/s

5 1.5x102m/s

4 1L0m/s
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; 3.0x108m/s

5 2.0x10° m/s

5 1.5x10%2m/s

4 1.0m/s
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A simple pendulum of length L is placed
between the plates of a parallel plate
capacitor having electric field E, as shown
in figure. Its bob has mass m and charge q.

The time period of the pendulum is given

by :

I
=%
PPt
I|||Q—|

E
Options:
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% m J
1.
g
\/[ 5 9B
5 3 m )
21 f L
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9 | 2.2
=T s q°E
& w2
% m
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Correct Marks: 4 Wrong Marks: 1
Space between two concentric conducting,

spheres of radiia and b (b > a) is filled with
a medium of resistivity p. The resistance

between the two spheres will be :

Op_tions:
p [1 | 1}
47w'a b/

1



=z
L’Li}

3 EFT[a b,'
L(l T)

73 2w\a hJ
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Op_tions:
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Correct Marks: 4 Wrong Marks: 1

The magnitude of the magnetic field at the
center of an equilateral triangular loop of
side 1 m which is carrying a currentof 10 A
is :

[Take p,=4wx 107 NA~?]

Options:

1, 1k

o 3uT

3 IpT

4 18pT
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1 m Y= 9/ U GHaR BIyser aqd 4
10 A 9T WaTTed 2l & | $HF %7a T &g
&1 % U 6 HE 20

[, =4m x10~7 NA~2 =i ]

Options:

1, 1k

o 3pT
3 InT

4 18T
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Options:
1, 1k

o 3uT

3 IpT

4 18T
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Correct Marks: 4 WrongMarks: 1
A square loop is carrying a steady current I

and the magnitude of its magnetic dipole
moment is m. If this square loop is changed
to a circular loop and it carries the same
current, the magnitude of the magnetic

dipole moment of circular loop will be :

Options:
i

1 1
2m

= 1}
31

3 ’:T
4dm

g
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Correct Marks: 4 WrongMarks: 1

A coil of self inductance 10 mH and
resistance 0.1 {2 is connected through a
swilch to a battery of internal resistance
0.9 £). After the switch is closed, the time
taken for the current to attain 80% of the
saturation value is : [take In 5=1.6]

Options:

i 0.016 s

5 0.002s

2 0,103 s

i 0324 s
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10 mH TUFE T4 0.1 Q WY 1 TF F2al
= T il o 919 TF 0.9 () HAF qfeaiy &
el 9 S2d € | il Fl 98 F1 & I99d 39
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[fG€: In5=16]

Options:

P 0.016 s

5 0.002

2 0103 s

4 03245
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Options:

i 0.016 s

5 0.002

z 0,103 s

4 03245

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Light is incident normally on a completely
absorbing surface with an energy flux of
25 Wem 2, If the surface has an area of
25 cm?, the momentum transferred to the
surface in 40 min time duration will be :

Options:

, 14x107°Ns

» 35%1076Ns

3
5 5.0x107° Ns

4 6.3x10 4 Ns
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T G0 SEYEE Y2 W25 Wem 2 el
WATE (flux) 1 WY @=Eq AT9fqd el & |
afg g2 &1 &5%d 25 cm? ® 1 40 min
HEATAae § 39 T g2 HoTl 3 (transfer)
B

Options:

, 14x107°Ns

, 35%1076Ns

3
=z 5.0x10" " Ns



4 6.3%107*Ns
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25 Wem 2 s/2¢] God sasd auadl UsilL 215
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Options:

, 14x10 6 Ns

» 35%1076Ns

3
5 50x107° Ns

, 63x104Ns
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Correct Marks: 4 WrongMarks: 1
The graph shows how the magnificaion m
produced by a thin lens varies with image
distance v. What is the focal length of the
lens used ?

Options:
2
b._
1 ac

Ao
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Correct Marks: 4 WrongMarks: 1
In a Young's double slit experiment, the
ratio of the slit's width is 4 : 1. The ratio of
the intensity of maxima to minima, close

to the central fringe on the screen, will be :

Options:
1 4:1

9:1

. (V3 1)* .16

e .
i 25:9
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Options:
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ol A Gzl Wb, Rae-l udloud=iidl
IGlrz 4: 18, USEL UR Her IS %95
WA e vt vl dlodizi-Al 2gelng

ZELN
Options:
i 411
5 g:1
4 i
(V3+1) :16
5 :
nE .
i 25:9

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A 2 mW laser operates at a wavelength of
500 nm. The number of photons that will

be emitted per second is:
[Given Planck’s constanth=6.6 x 10~ 3 Js,
speed of light c=3.0x 10° m/s]

Options:

; 5x10%

1nlé
5 1x10

5 1.5x1016

4 2% 1016
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Correct Marks: 4 WrongMarks: 1
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[fem %, =i FFai® h=6.6x10"M Js,
I &l = ¢ =3.0x 10° m/ 5]

Options:

; 5%10%

1nl6
5 1x10

5 15x1016

4 2x1016
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w5 @2 2 mW WHR 500 nm cR2deud= s
5% 59, o g3l Uld A5t Genlord L siziq-Hl
| el
[ Haisl »@nis h=6.6 x10 3 Js,
uszlAl 254 c=3.0x 108 m/s 20u4 ©.]
Options:
1 5x 1013

1nl6
5 1x10

5 15x1016

4 2x1016
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In Li* *, electron in first Bohr orbit is
excited to a level by a radiation of
wavelength A, When the ion gets deexcited
to the ground state in all possible ways
(including intermediate emissions), a total
of six spectral lines are observed. What is
the value of A ?

(Given : h=6.63 x10*Js;

c=3x108ms™ 1

Options:

1 94 nm

5 10.8 nm

5 114 nm

4 12.3 nm

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
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Li* *+ 31 H soiae(d ol S5 TgH S1et F57
G\ TreE & fafaror 9 v S e o swted
# o i 81 59 98 AEA {9 Ay
Tl Sy | Gy HYa T (TEe] Seas
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It S €1 A S 0 91 26 2
(fGME:h=663%x10"Js;
c=3x108ms~1)

Options:
1 94 nm

5 10.8 nm

i 114 nm

i 12.3 nm

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Lit ol ueu ol sl wddl sasgi A seedl
cA3ades vzl (Bl wegel Galera sad
odd 6. sl 2L oA offll o7 2l (9Re adl
Geas/Al gzl 2l vel) sl 2Grilevd 2 &
Al 56 6 qeu2 Tuuil sl HA 8. & -l Bud
sedl sal?

(h=663%10"3%]s;c=3 %108 msg~1 WYY
. )

Options:

1 94 nm

> 10.8 nm

4 11.4 nm

i 12.3 nm

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Two radioactive substances A and B have
decay constants Sk and A respectively. At
t=0, a sample has the same number of the
two nuclei. The time taken for the ratio of

12
the number of nuclei to become {—w will
e/

be :
Options:

i 1/ A\

2/
1/2A

4 /4
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i 1/A

2/
1/2A

4 1/4
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Options:
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1
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The figure represents a voltage regulator
circuit using a Zener diode. The
breakdown voltage of the Zener diode is
6 V and the load resistance is, R; =4 k().
The series resistance of the circuit is
;=1 kf1. If the battery voltage Vj varies
from 8 V to 16 V, what are the minimum

and maximum values of the current

through Zener diode ?
R;
::. __,.-'.'_,'-._‘I.-.‘_
=
Vg — F7% =Ry
Options:

1 0.5 mA: 6 mA

5 1.5 mA; 85 mA

2 0.5 mA; 8.5 mA

4 1 mA:8.5mA
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Options:
1 0.5 mA; 6 mA



5 1.5 mA; 85 mA

2 0.5 mA; 85 mA

4 1 mA; 8.5 mA

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 WrongMarks: 1
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R;=1k0 &. sd vzdl-l diesr V4 8V 2l
16V QS 20 dl 2R SBLS Ul 4™
D Wy Y 52 A ]

R

i
>Ny

-
=
(
I
~J
L
'l"||lll'-'ll\l'-'Ill
A

Options:
1 0.5 mA; 6 mA

5 1.5 mA; 85 mA

2 0.5 mA; 85 mA

4 1 mA; 8.5 mA
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Correct Marks: 4 WrongMarks: 1

The correct figure that shows,
schematically, the wave pattern produced
by superposition of two waves of
frequencies 9 Hz and 11 Hz, is :

Options:
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In an experiment, brass and steel wires of
length 1 m each with areas of cross section
1 mm? are used. The wires are connected
in series and one end of the combined wire
is connected to a rigid support and other
end is subjected to elongation. The stress
required to produce a net elongation of
0.2 mm is,
[ Given, the Young's Modulus for steel and
brass are, respectively, 120 x 109N J m=and
60 x 107 N/ m?]

Options:

1 0.2 106 N/m?

5 4.0x10°N/m?

5 1.2x10° N/m?

4 1.8x106 N/m?

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e WAFT H, Yiad a9 e o o a6l &1 ¥4
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Options:

, 0.2x108 N/m?

5 4.0x10°N/m?

5 1.2x10° N/m?



4 1.8x106 N/m?
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25 WM €35 1 m detdl 241 1T mm? sr2dl
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Options:

; 0.2x106N/m?

5 4.0x10°N/m?

5 1.2x10°N/m?

4, 1.8%106 N/m?
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Correct Marks: 4 WrongMarks: 1

A cubical block of side 0.5 m floats on water
with 30% of its volume under water. What
is the maximum weight that can be put on
the block without fully submerging it

under water ?
[Take, density of water = 10° kg/ m®|
Options:

, 30.1kg

, 875kg

. 463kg



, 654kg
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0.5 m ST T8 1 Ush TR T2 U= H
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[fean & : Ui %1 99 = 10° kg/m’]
Options:

, 30.1kg

, 875kg

. 463kg

, 654kg
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0.5 m szl ellsy 31l Y e AlHdl dd 30%
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Options:

, 30.1kg

, 875kg

. 463kg

, 654kg
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The major product Y’ in the following

reaction is :

Ph. - CHj _
m| NaOCl . (1) S5OCI, 2
ii) aniline
! (i
Options:
NH
Z 9
v
AN
g
Ph
i
N ,,f*i P e Ph
Q
£
O
HN-  “Ph



NH;

o

0% “Ph
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Correct Marks: 4 Wrong Marks: 1
Which of these factors does not govern the
stability of a conformation in acyclic
compounds ?

Options:

1 Steric interactions



> Angle strain
2 Torsional strain

i Electrostatic forces of interaction
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Correct Marks: 4 Wrong Marks: 1
In chromatography, which of the following,
statements is INCORRECT for Rf?

Options:



Higher Rjr value means higher
1 admrpticrn-.

Rf- value depends on the type of
chromatography.

The value of Rircan not be more than
3 One.

Rf value is dependent on the mobile

phase.
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Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Number of stereo centers present in linear

and cyclic structures of glucose are
respectively :
Options:

1 4 &4

5 4&5

5 o&4

4 5&5

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TSI o (e U =k HEAe] § Sutteq
fafem =i =1 H& w20 e

Options:

. 49914

5> 4T¥5

5 5 AU 4

, 57915

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

s slael Yol o ugly ofamel vl wal
Erudlaell segi-l Hva w454 2lEl

Options:

1.4w&4



o, 4245
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4 515

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The correct match between Item - | and

Item - 11 is:
Ttem =1 Item - 11
(a H"Fhﬂf ensity | (1) | Peroxide catalyst
polythene

Condensation at high

(bl Polyacrylonitrile|(II temperature & pressure

o

(c)| Novolac (IID)| Ziegler-Natta Catalyst
(d)| Nylon 6 {(IV) Acid or base catalyst
Options:
()= (IV), (b)= (1), ()= (I),
1 (d)— ()

(@)= (1), (b)—=(1V), (c)—(I),
o (d)— (1)

(a)— (1), (b)y— (D), (c)— (II),
3. (d)—=(1V)

(a)— (1), (b)—= (D), (c)—(IV),
4 (d)—= ()

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



U - 199 He - 11 &F &9 961 i 2

LA | e - 11
(a) | 759 " weitedts | (1) | wemEE IWEE

(b)| wrefifreemgee | (1) | === A9 A9 W W EE

(c) | T+ (11| Faret-am1 3o

(d) | FrEE™ 6 (V)| 37Fa H9a1 5 IS
Options:

(a)—= (IV), (b)— (1), (c)—(I),
. (d)y—(m)

(@)= (), (b)—=(V), (c)—=(1),
o (d)— (1)

(a) = (HI), (b)—= (D), (c)— (1),
3. (d)—= (V)

(a)—= (1), (b) = (1), (c)—(IV),
4 (d)—(0)

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Hadl - 12 el - 1A e Al edL

will -1 yell = 11
()| %% el il W
ielielley

Yzlsgs Gebas

(b)| elABdgpwa || WA rewl

Hdrirl
(c) | ledlels (D) (o -2l Gelus
(d) | s 6 (V)| =B wee s Gellus
Options:
(a) = (IV), (b)— (), (c)—(I),
. (&)= (mm)

(a)—= (1), (b)—=(IV), (c)—= (1)
, (dy—(Im)

(a) = (1), (b)— (D). (c)— (1),
3 (d)—=(IV)



(a) = (HI), (b)—=(I), (c)—=(IV),
4 (d)—(0)

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Compound A(CyH,,0) shows positive
iodoform test. Oxidation of A with
KMnO,/KOH gives acid B(CgH.O,).
Anhydride of B is used for the preparation
of phenolphthalein. Compound A is :

Options:
_~CHj
*{‘i_:?‘__.--'"
1: 2
f..fCT'Ig
__-CHj
2 D
CH:-
= O -\\Cl'lg’
O
|
_CH)—C—H
~CHga

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



AR A (CyH, ,O) HFRIHS HESTHH FiaT
YEf¥d & €1 KMnO,/KOH = H19 A 1
HIFHTEF Tk 377 B(C,H,O,) A €1 B
TFRTESIEE I FATCHIE ] 3 & fera i
FAE AMFEAT:

Options:
_~CHj

CHa

_CHj

-CHj

, 07 CHs

O

I
SCHy—C—H

~CHs

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Hellorrl A(CoH,,0) estics 2udisisid 53412l
2 8. A + KMnO,/KOH 96 2ls{lsei
sacll AHS B(CH,0,) 2 8. (rlesAdlA-l
celdziil Bl 2iHesss Gurlpl syl 2ud
8. ol Udllord A & :

Options:



_~CHj

D*—l‘*—x __.--""--'
J
1:
~CHj
- CHs
> O
-CH

" o7 CHa

O

|
_CH,—C—H

~CHa

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major product Y’ in the following

reaction is :

Cl-amﬁ,«f\ EtONa L3 HB"_Y
Heat i

Options:

foﬂ_x e



Br—"

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

= srfyfran § = s Y’ -

Ol ~_EtONa_ S HBr
= ,
Options:
anﬁx ;‘

T

)

Br—"

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Al 2l Wl Yoo sy Y’ S

o

~~._EtONa X HBr
W IR '

i g
Options:

fox .

ol .H.-.""ﬂ-._
1: \‘

No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product obtained in the given
reaction is :

CHa o CHy 08 pr e
(ldll
Cl
Options:

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

CHR. .

CHgz..

.

—
o
o



CHj

H3(‘\©"D ~cHy~ 2~ cn=cH,
4

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

&1 T At 9 9 9 3R §

CH3. _~__0 CHa- chiy M

o e *
l
Options:

CHj._

CH3. -~

i

H3C. @,n ~cry CH gy ~CHa
2.
HSC%@
CHj

HSC\@’D ~CHy M2~ cH=CHj
4,

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A2l el ulzael Yo ey 2liAl

CHy U O CHo i s N cry—Ha
N I

AICl,

Options:
CHs._

CHy. - Q
1 | -..._:::-_:\;‘-

II3C..,___©,O ~CH ;..CTI-‘.:TTC' IECHS
z.

Hal.
o CHj

H3L\©/D“~-CI i 2~ cH=CHj
4

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The increasing order of nucleophilicity of

the following nucleophiles is:
(@) CH;CO3
(b) HO
() CH;S05
@ On
Options:

. ) <©<@< @)

, (@) <(d) < (©) < (b)

, (B)<(©)<@)<(d)



L (@) <@ << b)

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e Fifyafmal & FifysafTar =1 F=a #9

®:

(@) CH;CO5
(b) H,O

(c) CH,S0;3
(@ OH
Options:

L ®)<@©<@< @)

o (a)<(d) < (©) < (b)

. (B)<(©<@)<(d)

, @ <@ <<

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Alel 2l Seg 2Rl A dudl seg
2ARP(ALAL Uil FHHL 20154l

(@ CH,CO5

(b) H,0O

(€ CH;S03
=

(d)  OH

Options:

L ) <©<@< @)

o (a)<(d) < (©) < (b)

. B)<(©<@<(d



L (@) <@ << b)

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which of the following is NOT a correct
method of the preparation of benzylamine
from cyanobenzene 7

Options:
, () HC/H,O (i) NaBH,
, () LiAlH, (i) H,0"
. Hy/Ni

4 (i) SnCl, + HCl(gas) (i) NaBH,

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1= 4 | 1 gEAEsE 9 sfaeud= & g9H
1 e TR E ¢ 7

Options:

, (@ HC/H0 (i) NaBH,

- (1) LiAlH, (i) H;0*

. Hy/Ni

4 (i) SnCl, + HCl(gas) (if) NaBH,

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Al ool g =g [ oriseul
12l 2yl wealdeal sl 56 ois il weld 27

Options:
, () HC/H0 (i) NaBH,

, () LiAlH, (i) HO"



. Hy/Ni

4 (1) SnCl, + HCl(gas) (i) NaBH,

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The correct order of the first ionization
enthalpies is:
Options:
] Ti<Mn<Ni<Zn

o Mn <Ti<Zn <Ni

= Ti<Mn<Zn<Ni

4 In<Ni<Mn<Ti

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AT AEAA Tl 1 9e F9 ©

Options:
] Ti<Mn<Ni<Zn

5 Mn<Ti<Zn < Ni

= Ti<«Mn<Zn<Ni

4 n<Ni<Mn<Ti

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AN BT A el L 53 2l

Options:
] Ti<Mn<Ni<Zn

5 Mn<Ti<Zn < Ni



= Ti<«Mn<Zn<Ni

4 n<Ni<Mn<Ti

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The correct statement is :

Options:
1 aniline is a froth stabilizer.

sodium cyanide cannot be used in the

- metallurgy of silver.

5 zincite is a carbonate ore.

zone refining process is used for the

refining of titanium,

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
& HIA T ¢

Options:

. T T F-TI TS
Hifeay goAREe F1393m fHea (=7
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Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ay [

Options:
. wirdldln =4 Ber-ralsies 9.



izl elteedls il Jlsam s sl Gusiet
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Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The correct statements among (a) to (d)

are :

(a) saline hydrides produce H, gas when
reacted with H,O.

(b)  reaction of LiAIH, with BF; leads to
B,H,.

(c) PH; and CH, are electron - rich

and electron - precise hydrides,

respectively.
(d) HF and CH, are called as molecular
hydrides.
Options:

1 (c) and (d) only.
5 (a), (c) and (d) only.

i (a), (b) and (c) only.

4 (@), (b), () and (d).

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



(a) T (d) F &=, T FIAE :

(a) AT BESESH H,O F ¥y sfufEs
FHTWH, WA 2

(b) BF,F 9 LIAIH, F1 sf4fFa1 9 B,H,
EGiR

(c) PH, T CH, A TelagiH-Hrg a2
SR [A-UMYE eeerEed e

(d) HEF 391 CH, #fva BE2ET Fe 94
gl

Options:
, (o) T (d) WA

, (@), (c) T (d) 7
. (@), (b) 7T (c) 7

, @0,

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(a) 2l (d) wi meu (el

(a) M asgEs A H,O HE MR sl
H, iy Goun 4 .

(b) LiAlH, -l BF, =@ uba sl B,H,
2 B,

() PH; #id CH, 2l 215 954 MY2
w gasglt URH (precise) €lB4I8s
8.

(d) HF 2 CH, A 2uesl eigidsn adls
2R 8,

Options:

, B (@

, &t (a), () 2 (d)

. &5 (a), (b) # (o)



, @ 0O @

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A hydrated solid Xon heating initially gives
a monohydrated compound Y. Y upon
heating above 373 K leads to an anhydrous
white powder Z. X and Z, respectively,
are :

Options:
i Baking soda and soda ash.
Washing soda and dead burnt

5 plaster.

5 Washing soda and soda ash.

4 Baking soda and dead burnt plaster.

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
U Ferdifad o/ X T #99 T 9 § =
USHE- S ATE Y TAE | 373 KFH W
Y = TTH A T U Fsiel IR qeet Z fierdn
T X TN Z FH: B

Options:

, e Fr= o Hret O
o, AL |2 91 JUieTs el
, AT WS a1 Hrel

4 T T U U TR

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



oY Sel el Xl 23 S2ell UUH @is 2l Hlsre
(monohydrated) Y 244 8. Y A 373K 2
AR srell [Heoron 58 o5l Z 4 B, X 24 Z
s H B |
Options:
L sl st e LS HeL

Alairl Mol 2 Yo woudy wires
5 (dead burnt plaster)

. Elletll MLl 2 HisL 2l

WAL HISL 2 Yd HoPudd wlRe?
" (dead burnt plaster)

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
9% I 19 & 9gHed § suftyn T ¢
Uil

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.
Options:

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The noble gas that does NOT occur in the

atmosphere is :

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.
Options:

L He



Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
GHEL sy & o AAUHREHL At 2l o

Note: For this question, discrepancy isfound in question/answer. Full Marks is being awarded to all
candidates.
Options:

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The number of pentagons in C{.ﬂ and
J

trigons (triangles) in white phosphorus,

respectively, are :

Options:

1 12 and 4

~> 12and 3
20and 3

4 20 and 4

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Cyo ¥ 929 a9 ke HERRYT H H9si
(=ron ) =1 9% HH9: ©

Options:



, 12d714
12 921 3
5 20T913

20 94

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

L, ARy, e W, Py Tl v ™
Cpo ML AL YASIU 2 U3E SRSRABUL ucall
[BAsiell 24454
Options:

i 12 =i 4

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The highest possible oxidation states of
uranium and plutonium, respectively,
are :

Options:

L 7and 6

5 fhand 7

z fhand 4

4 4 and 6

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Iz a9 w29 #F1 I=aq 9ed
SR ST A B

Options:

1 704916

o> 6AATT

= 6914

, ATH6

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
3 [ 2 w2 L s Hgrw wisdban
R A5 B

Options:

| 7216

5 67

, 6@4

s 44416

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The crystal field stabilization energy (CFSE)

of [Fe{HED}ﬂ]CE?_ and Kz[Ni{:Iq],
respectively, are :

Options:
, —0.6A,and —0.84,

, —04A, and —0.84,

—24A and —1.2A
= W] t

, —04A,and —1.2A,



Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[Fe(H,0)JCL, 41 K,[NiCl,] =i foFeee &=
TR S (H.UEUEE ) HE: 2
Options:
~0.6A, TET - 0.8A,

1

, —04A, T —0.84,
. —24A, T —124,
, —O04A T — 124,

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[Fe(H,0)]Cl, wiel KE[NiCi‘i] Ul :t:‘;ﬂrl& OE
[R213ctL God (CFSE) 2454 :

Options:

, —06A, 2 — 0.8,

— 044, #i- —0.84,
z.

—24A, ¥ —1.2A,
=t

~04A @A —1.2A
4. 0 t

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The INCORRECT statement is :
Options:

the spin-only magnetic moment of
. [I”~.Ii{I“~.TI-I3}_11‘:[—12"{:)}2}2 T is 2.83 BM.

the spin-only magnetic moments of
[FE{I‘I?_D}{;F " and [CT(H:DML are
nearly similar.



the color of [Cﬂ{]{NH3}5}3 " is violet

5 as it absorbs the yellow light.

the gemstone, ruby, has Cr3t ions
occupying the octahedral sites of

4 beryl.

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T FYF T
Options:
[Ni(NH,),(H,0),]** =1 feaam-
| TEHE A 2.83 BM 21

[Fe(H,0) ]2+ @41 [Cr(H,0) ]2+ &
Tor - = Y ST U S
Z

z.

4 [CoCI(NH,)g]2 + Htem w=hTet vt
5 T T SHE T A # S

SHEA, 46, § Cr3t A 2 & S
I & ARTFAH T T § I T8
2

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[Beus 2z w2l o
Options:
[Ni(NH;),(H;0),]2 Fdl 35d Ry
. 2ol 25l 2.83 BM .

[Fe(H,0)4]2* 24 [Cr(H,0) 2 * -l 55
o Bl 2ol s erert vl ©.

[CoCI(NH,)]>* Al 91 adedl & 54 &
o o dlou asten el 52 B,
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Air pollution that occurs in sunlight is :

Options:

1 acid rain

5 fog

3 reducing smog,

¥ oxidising smog

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
I oG TSN S g4 F YEW H A e, ¥
Options:

~

| ST J

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Al HEUEL o M MsRHl A O d
Options:

| AW ol

"
,

o 2o sl Yo g
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Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The minimum amount of O,(g) consumed
per gram of reactant is for the reaction :
(Given atomic mass : Fe=56, O =16,
Mg =24, P=31, C=12, H=1)

Options:

;. 4 Fe(s) +3 O,(g) —2 Fe,04(s)

2 Mg(s) +O,(g) — 2 MgO(s)
Py(s) +5 Oy(g) = P4Oyp(s)

CyHy(g) + 50,(g) — 3CO,(g) +4 H,0(l)

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Al < Wiaum % T O,(g) = SrEmet
seqag 9 = ° O e syt & fou
2 ?

(fezn =1 9T =99 : Fe=56, O=16,
Mg=24, P=31,C=12, H=1)

Options:

: 4 Fe(s) +3 O,(g) — 2 Fe,04(s)

2 Mg(s)+O,(g) —2 MgO(s)
Py(s) +5 Oi(g) = P4Oy(5)

CyHy(g) + 50,(g) — 3C0,(g) +4 H,O()

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Al el wlsl sl 59 2isui wld um ulsus
2 O,(g) Al 2ol 28l ML R 8 d
gllel :

(=dd wyedly ga: Fe=56, O=16,
Mg=24, P=31,C=12,H=1)

Options:

;. 4 Fe(s) +3 O,(g) — 2 Fe,04(s)

2 Mg(s)+0O,(g) —2 MgO(s)
Py(s) +5 Oy(8) — P4 Oy(s)

C3Hg(g) +50,(g) — 3CO,(g) +4 HO()

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Points I, IT and III in the following plot

respectively correspond to

Vv mp * most probable velocity)

I"-. \ .
/O
1

1l 11
Speed, v —

Distribution function, f(v)—s

Options:
Vi ©f Hy (300 K); V,,, of N, (300 K);
. Vinp©f O (400 K)

Vinp ©f O, (400K); V., of N, (300K);

Vinp ©f Hy (300K)
Z. -



Vinp of Ny 300 K); V
Viup Of Hy (300K)

mp Of O, (400K);

o5

Vinp Of Np (300 K); Vi, 0f H (300 K);

, Vanp©f Oz (400 K)
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Options:
H, &1V, (300 K); N, F1V,,

P
| (B00K); 0, F1V,,,, (400K)

mp (

Oy FT Vyp, (400 K); Ny &1 Vo

, GO0K);H, F1V,, (300 K)

N, 1V, (300 K); O, #1 V,,

P
_ 400 K); H, FV,, (300 K)

I.TIP

N, %1V, (300 K); H, #1 V
(300 K); O, FIV,_, (400 K)
4. =

mip

mp
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Options:
H, l Vg, (300 K); Ny l V,,
, (BO0K);0, -l Vo (400 K)

0, -l V,,, (400 K); N, Al V,,,
, (00 K); H, rﬁvmp (300 K)

N, l V. (300 K); O, Al V
(400 K); H, AL V,,,, (300 K)

mp

Gl

N, -l V,,, (300 K); H, «l v,
, (300 K); O, 4l V., (400 K)

mp
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The ratio of the shortest wavelength of two
spectral series of hydrogen spectrum is
found to be about 9. The spectral series
are :

Options:

L Balmer and Brackett

5 Lyman and Paschen



= Paschen and Pfund

4 Brackett and Pfund
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The difference between AH and AU
(AH— AU), when the combustion of one
mole of heptane(l) is carried out at a
temperature T, is equal to :

Options:

1_4RT

5 3RT
5 —4RT

4 —3RT
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W4 e Hiel £ (1) T &84 T A T foman s
T AH 71 AU 1 5%, (AH - AU), /= %
FET 2

Options:

1 4RT

> 3RT
5 —4RT

i —3RT
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25 Al T 24 215 W &24(1) 4 5et s2eml
el 4 AH 2+ AU (AH - AU) -l dsled
ARTREEICERENY,

Options:

P 4 RT

> 3RT

5 —4RT



—3RT
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1 g of a non-volatile non-electrolyte solute
is dissolved in 100 g of two different
solvents A and B whose ebullioscopic
constants are in the ratioof 1: 5. The ratio
of the elevation in their boiling points,
ATy(A)

ATy (B) 7%
Options:

1 1:0.2

4 10:1
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WE U AT AT % 1g N a
HAT-HAe faarsl (A 991 B), a1
Tl frt® 1.5 o9\ § &, F
100 g | =TT S T 37 FFUA 6 390949 H
AT, (A)
ATy (B)* &0
Options:

1 1:0.2

4 10:1

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



1 g @eirsuelle 2«4 =fagaleus gias-
100 g AL 9 9fEl-5¢EL 4198l A 24 B i
AP @il el Seqairsils sl
el 1:5 8. dl Gesar [igAL Gaud -l
in{A.J
ATy(B)

ez

L

FUEL -
Options:

; 1:0.2

> o |

4 10:1
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For the reaction,

2 SDE{g} + E‘J'E{g}'_- 2 5D3{g},
AH= —-57.2 k] mol land
KL_= 1.7 x 1016,
Which of the following statement is
INCORRECT ?
Options:
The equilibrium constant decreases

, as the temperature increases.

The equilibrium will shift in forward
direction as the pressure increases.

The addition of inert gas at constant
volume will not affect the equilibrium

= constant.

The equilibrium constant is large
suggestive of reaction going to
completion and so no catalyst is

required.
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The pH of a 0.02 M NH,(CI solution will be
[given K (NH4OH) =10 7and log 2=0.301]

Options:
1 4.65

5> 265
5 5.35

4 435
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0.02 M NH,CI fFer3= =1 pH &rm : [fean T
@ K, (NH4OH) =10 5 7=l log 2=0.301]

Options:
1 4.65
» 2.65

5 5.35

4 435
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0.02 M NH,CI -l gla@il pH 2Ll :
[2444 K, (NH4OH) =10~ % 2irt log 2=0.301]

Options:
1 4.65

5 265



5 5.35
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Which one of the following graphs between
molar conductivity(A ) versus ,/C is
correct ?

Options:

Tm \?{:} \\%
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For the reaction of H, with I,, the rate

constant is 25x10 4 dm® mol "' s ! at

327 °C and 1.0 dm® mol ! s~ ! at 527 °C.
The activation energy for the reaction, in
k] mol ~!is:
(R=8314]JK 'mol 1)
Options:

1 99

o T2
5 150

4 166
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L, 919 H, %1 sAf4fwa & fog 32 fadis
327 °C W 25x10"4 dm* mol~ s~ 1 9
527 °C T 1.0 dm3 mol ~1s—1 &1 =rfufaan
&1 A= St (k] mol ~ 1 ) 201
R=8314TK 'mol™ 1)
Options:

1 99

o T2
5 150

4 166
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H, 24 I, oAl ulsed 327 °C 24 9oL 2ais
25%10"% dm® mol ~! s~ 241 527 °C W
1.0dm?mol ~1s—1 &, 20 ul we ulkusael
31lsct (KJ mol ~1 ui) 20l

(R=8.314JK !mol 1)

Options:
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5 150

4 166
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The correct option among the following
is:
Options:
Addition of alum to water makes it

i unfit for drinking,.

Colloidal medicines are more

effective because they have small

5 surface area.

Colloidal particles in Iyophobic sols
can be precipitated by
5 electrophoresis.
Brownian motion in colloidal
solution is faster if the viscosity of the

solution is very high.
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Let f{x)=log,.(sinx), (0 < x < ) and
2(x) =sin e ™), (x=0). Ifaisa positive
real number such that a=(fog)'(a) and
b= (fog)(c), then :

Options:

1 ao —ba—a=0

5 act +ba+a=0

2 ao” +ba—a= —2a?

4 aot—ba—a=1
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AT flx)=log.(sinx), (0 < x < ) THT
g(x)=sin"Y(e %), (x=0) T 1 3% TF THF
qrfad & o % AT a=(fog) () 91
b= (fog)(c) F, 7 -

Options:

1 ao —ba—a=0

> aaz+ba+a=0
Z ao® +ba—a= —2a?

" aocl—ba—a=1
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HIRL 5 flx)=log,.(sinx), (0 < x < 7) 2
g(x)=sin"1(e"%), (x=0). sd a @i »idl a4
dredlds Hvdl 8 5 ¥¥l a=(fog)'(a) 214
b=(fog)(e) el :

Options:

) ao —ba—a=0

5 ant +ba+a=0



= ac-+ba—a= — 20
7 |
4 A0"— ba—a=1
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If z and w are two complex numbers such

that I|zn-'| =1 and arg(z)—arg(w)=

STER

then :

Options:
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afe z 991 w & U gfimyg d=mn §
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|zn'| =1 T4 arg(z) —arg(w)= 2 , T

Options:

LT

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1



o z ¥ w @ 2ol o 22 vl B 5 o8l
m

1 } '\; '\_ o
> s |

.|zw| =1 2 arg(z) —arg(w)=

Options:

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The number of real roots of the equation

5 4

2* - 1| = 2%(2* - 2) s:

Options:
i, 4
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THIHI 5 4 [2* 1‘= 2¥(2¥ — 2) F

Options:
1. 4
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1, 4
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The sum of the real roots of the equation

6 1
2 3x x—3 |=0, isequalto:
3 2x x+2
Options:
g 4
5 0
= 1
4 6
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X A 1
wylszel ’. 3x x—3 | =0 -l
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Let A be a real number for which the system
of linear equations
X+y+z=6
dy +Ay—Az=A—2
x+2y—4z=-5
has infinitely many solutions, Then A is a

root of the quadratic equation :
Options:

; AMH43A-4=0

)
5 M-3\-4=0

Dt
SIJL-IPL 6=0



4 A—=A—6=0
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Options:
; AMH43A-4=0
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Suppose that 20 pillars of the same height
have been erected along the boundary of a
circular stadium. If the top of each pillar
has been connected by beams with the top
of all its non-adjacent pillars, then the total
number of beams is :

Options:

1 170

5 190

5 180

4 210
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5 180

4 210
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The smallest natural number n, such that
the coefficient of x in the expansion of

[+
X t+—

3
X4

I

is "Coy , is:
Options:

1 23
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Let a, band c be in G.P. with common ratio

. 1
r, whereaz0and 0<r = E If 3a, 7band

15¢c are the first three terms of an A.P., then
the 4% term of this A.P. is:

Options:
y.s
—a

1. 3

5 @
7
—a

3 3

4. 02
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3 3 3 3 3
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The sum 1 + + ¥ ...
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3 3 3 3
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is equal to :

Options:

, 620



5 660

5 1240

4 1860
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il

_ X ar+ b _ .
If lim = 5, thena+b is
x—1 X 1

equal to :

Options:

1. ]

[0
L8 ]
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3
x* ax + b
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r—1 X 1

Options:

1. 1

i 0
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Letaf, a5, 85, ..., be an A.P.with aﬁ=2. Then
the common difference of this A.P., which
maximises the product a; a, a5, is :

Options:

| o | o W |

k2|
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A spherical iron ball of radius 10 cm is

coated with a layer of ice of uniform
thickness that melts ata rate of 50 cm®/ min.
When the thickness of the ice is 5 cm, then
the rate at which the thickness (in cm/ min)

of the ice decreases, is:

Options:
&
6w
-4
5 6
S
18 =
3.
A
4 9

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



10 T T30 =1 &1 =1 U e 7 F =96
oA T/ e 1 S J T @ 8| S o6 &5
HI2E 5 HHI 2, 79 9% 1 HI2E & H2H H R
(ﬁ‘ﬂfﬁﬁz} H, ?:

Options:

1
4 97
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Correct Marks: 4 Wrong Marks: 1

10 Al BEsatsol 215 divisl 2lousi gst
oRgrl wls Wl sasidAl wzedl gsid B, &
50 #HB /(A2 AL 22 o 5. sum vizsel
sdsld 5 AWl 1 B edasHl sasld szl 82

e~

(#dl/ (alHz4) 8.

Options:
1
36w
2
5 617
1
18
=,
1
4 Qa1

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



-
If the tangent to the curve y = — .
x" =3

xeR, (x=£3), ata point (a, B) = (0, 0)
on it is parallel to the line 2x+ 6y —11=0,
then :
Options:

|6e + 28] = 19
1

, |20+ 6p = 11

_ [6ac+ 28/ =9

|2 + 6p| = 19
4.

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
X fa
ATH y=—— ,xeR (x223) F
X

% a5 (o, B) = (0, 0) T =l T T99 ],
@1 2x + 6y —11=0 F TAR &, A :

Options:
|6ex + 28| = 19
1.

, |20+ 6p = 11

_ [6a+ 26 =9

|2 + 6p] = 19
4,

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
n x i . 3
dds y = —— , xeR, (x2£V3) w
=3
(%5 (a, B) =(0, 0) @1l 2y3ls 3

2x+6y—11=0 - A2 ¢, dl

E.

Options:



1 |6e + 28| = 19
, |20+ 6p| = 11

|6 28 = 9
=

|2 + 6p| = 19

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

~

If IIED 4y = g(x)e ™ + c,wherecisa

constantofintegration, then g( — 1) is equal

o
Options:
)
9
1 ==
5 =1
1
3 2
4 1

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

2 2 -
afg _[15& Tdx = g(x)e™ + ¢ & TEcTF
TRIH ST E, T g(—1) TR E :

Options:
2
9

1 ==

5 =1
1
2



Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
-, 2 .2 4

d [P dx=g(x)e™ +c, adl c
Hsedl 205 ¢d dl g(—1) =

Options:
)
9
1 ==
5~k
1
3 2
4, 1

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

) ”'; =/ 4/ )
The integral J‘: sec’x cosec’ix dx is
/6

equal to :
Options:
3% _ 3%
1. -
3 3
5 3 3
% 27
3 9% — 37
il i
376 276
4. > '

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

W.Ijﬂ,ec X cosec’ J.:il_ﬂﬂ'ﬁ'{%

Options:



1
375 — 373
2. B
5, 2,
3 3% — 37
il 5
’ -'.f" 1-"1‘1
4 ° '

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

sec’” x cosec”x dx =

6

Options:
.,_%3_.-;; _'r’l'i
34:;. 11:,”'
Dy T
% o
= i - &4
7 5
o W 276
4. > )

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Iy =27 T4 y = |x+1] BRI 9GH Fq9a |
ufierg 97 F 49 (37 s W) T

Options:
3
. log.2 >
3 1
5 2 loge2
2
2
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Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sl y=27 My = |x+1| glRL MUY AR

elzile MEe #stse (Alwisyi) &.
Options:
3

. loge.2 2

3 1
5 2 log.2

2
3 2

3
4 2

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The area (in sq. units) of the region bounded

by the curves y=2" and -y = |x +1{, in the

first quadrant is :

Options:
3
. log.2 4 2
3 1
5 2 loge2
2
= 2
3
g 2

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Lety=y(x) be the solution of the differential

- dy 2
equation, s t ytanx = 2x + x” tanx,

._ T ™
J-E[ 5 EJ,such thaty(0)=1. Then:

Options:

1_
D5
R G R
)3

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

HAT y=y(x), HAIHA HHTEHI

dy 2

— + ytanx = 2x + x“tanx,
dx

.xe[. 55 %] wEF y(0)=1 & F 7@ ¥

i :
Options:

T ([ ar

il 2 =2
1”[4J | 4] V2
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Correct Marks: 4 WrongMarks: 1
4l 5 y=yx) = [Hsa uxlsa

dy

— + ytanx = 2x xzia_nx_
dx L

Y
Sl dl
Options:
[ fﬂ 5
= =2
lylkatJ 5 G

2
R R O R
JEe3)--e

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Lines are drawn parallel to the line

3
4x —3y+2=0, at a distance E from the

origin. Then which one of the following
points lies on any of these lines ?

Options:



-"_-_-_\'"\.
e | =
L2 | k2
P

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

@ 4x 3y + 2=0 F THR @ g T §
Sy A W W E A A
HH-11 U fag o | forelt man @ e 22

Options:

[1 1)
3]

'[1 1
4" 3

1.

e, -

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks_: 4 WrongMarks: 1
: 3 .. . .
Gopmloigell — =ic, 3ol dx—3y+2=0
5
HHiAT vl ERd B, dl Al 5y fg
2l 5185 Yol ur 208 87
Options:

.8
1 4" 3)



-"_-_-_\'"\.
TENy
L2 | k2
P

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The locus of the centres of the circles, which
touch the circle, x=+ y2=1 externally, also

touch the y-axis and lie in the first quadrant,

is :

Opfcions:

L Y= J1+2x, x= 0
y= Jl+4x, x= 0

2’

4 .:r = 1+2y, y =10

S
I

y=0

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
R, g2 412 = 1 T T
y-319 H1 +f T F a9 9oOH =gt |

Opftions:

L Y= Ji1+2x, x= 0
y= fl+4x, x= 0

2

x=J1+4y, y=0
x= 142y, y=0
g4 * yo ¥

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Aqut a2 + 2 =1 A elsiRel 2uldl dysr y-218
Ul 2 MM UL 2L HAOUAL Segl
(GEua 8.

Op_tions:

L V= Ji+2x, x= 0

y=.l+4x, x= 0

2.

x=1+4y, y= 0
x= 142y, y= 0
4 X Y,y

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the line ax + y =, touches both the curves
g _

x*+y?=1and ¥ = 42 x , then |c| is

equal to :

Options:

NG

1.

-

I\J||--b.

I~

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Ifg T ax+y=c, SHET I 1*3+-y2=1 GEI
¥ = 42x, Frow @
Options:

e

1.

A 2

s



*

I\J||--n.

I~

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
o 2l ax +y=c @i oid 45l 2+ 17 =1 2

¥ = 4V2x Al dl le|=__

Options:

NG

1.

* ke

I\J||--b.

I~

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The tangent and normal to the ellipse
3x2+ 5y2=32 at the point P(2, 2) meet the
x-axis at Q and R, respectively. Then the

area (in sq. units) of the triangle POQR is :

Opti_ons:
E
1 15
15
> 3
1
2



68
4 1

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
gregd 3x2 + 52 =32 & fag P2, 2) T @it
T Ty Tl a9 Afeid, y-318 F FE
Q T R W H2d & | o 1= PQR 1 &Fe
(F TwrEEi H) ¥
Options:

34

1 15

16

5 3
1

3 3

6]

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Guaay 322 + 52 =32 «iL (65 P(2, 2) 221l

35 2 v HEA -8 2154 Q 2 R

9% 8, dl Bslel POR « &0 (2l2isyl)
8.

Options:
34

1 15

16
Z. 3

14
3

-]



Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If 5x +9=101is the directrix of the hyperbola
lex2— 9];2: 144, then its corresponding
focus is :

Options:
1. (=30)

, (5,0)
(-39]

(5o
4 3"y

3

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
gfg AfqRaed 16x>—9y> =144 =1 e
(directrix) 5x +9 =0 &, T 591 T ATHS

2

Options:
1. (=3:0)

5 (5,0)

(-30)

3o
4 3 )

3

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
sd 5x+9=0 3 #ldady 1622 — 92 =144 Al

(st €l dl dn 23y s &.

Options:



(-5,0)

1
5 (5, 0)
5
—, 0
3.[ 3 J
3.9
4 Wy

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A perpendicular is drawn from a point on
1 = ﬁ == to the plane
2 1 1

x+y+z=23 such that the foot of the
perpendicular QQ also lies on the plane
x ~y+z=3. Then the co-ordinates of Q

the line

dare :

Options:
, (20,1)

, (1,0,2)

5 (~1,0,4)

i (4.0, = 1)

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

x—1 y+1 - s s
| :f—]=i % fag ¥ 9Hae
x+y+z=3 W TH @4 39 THE =1 ™ T+
THEH IR Q, THAA x —y+z =3 W 4l frurg
T WQF FRww T
Options:
, 20,1)

5 (1,0,2)



2 (—1,0,4)

i (4.0, —1)

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Corre_ct Marks: 4 Wrong Marks: 1

~ x=1 y+1 z I

ML —— = j—l = 3 Wl (G52l Hue
x+y+z=3 Uz wis 2l do ElRdl & 5 sl
Aol detulE Q # HHUdd x —y+Hz=3 W U8l
€1 ol Q AL 41 8.

Options:
, 20,1)

, (1,0,2)

2 (—1,0,4)

i (4,0, —1)

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the plane 2Zx—y+2z+3 =0 has the
' 2

distances E and ; units from the planes
dy—2y+4z+A=0 and 2x—y+2z+pn =0,
respectively, then the maximum value of
A+ pisequal to:

Options:

1. 2

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Afe HAA 2x—y+2z+3=0 HI HHAEA]

dx—2y+4z+A=0 T 2x—y+2z+p=0 4
o 1 2 e -

St Faw: 3 ™3 THEA &, A A+ F

Aferhaq 7 2

Options:

, 5

i« 15

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
od HHAL 2x —y+2z+3=0 -l HAHAHl
dx—2y+4z+A=024 2x—y+2z+ pu=02l

‘o o 1o 2 & R i
i3l 2irqsH 3 e gwﬂ Sl dl A+ -l

-

Y [Eud £,

Options:
1 9

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The distance of the point having position

A,

P 3 A
vector —1 + 27 + 6k from the straight
line passing through the point (2, 3, —4)

L A

and parallel to the vector, f]: } *.5}, 1k
is

Options:



M2
~J

, 2/
4 3

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

u feig forom feafa wfew —i + 2 + 6k
&, T UF W @, i f6g (2, 3, —4) AT
Sl FRA B 67 1 3 - 4k PIHRE,
Agl ¥

Options:

p. 6
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Correct Marks: 4 Wrong Marks: 1

el 2 uEN i + 2) + 6k €Y dell
(G5, (G5 (2, 3, —4) wizll wur ucll 21 Ul

A, Fa

6i +3j — ak - e del dl 3w 2l

Options:
1. 6



4 43

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If both the mean and the standard deviation

of 50 observations xy, X, ..., X5y are equal to
16, then the mean of (x,— 4y, (x5 — A s
(g —4)7is:

Options:

1. 380

5 400
5 480

525

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

gfg 50 He X, Xy vuep X5 01 HIEA T HAE
foraed 31 16 2, @ (x;—4)2 (5, 4)2 ...
(Xoq —4)2 FT A T :

Options:
1 380

5 400
5 480

525

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
sd 50 AAdisAl x 1r Xop eens Xig Al HIEHs i
wuild [Baad vqd 16 ¢ld dl (v, —4)2
(2= 4)% ..., (xp—4)2 AL HEUS _ .

Options:
1. 380



5 400
5 480

525

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Minimum number of imes a fair coin must
be tossed so that the probability of getting,
al least one head is more than 99% is:

Options:
1. 5

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

U =7 T9aeh %1 <gAqH a1 9n 391 6
F9 U F9 UF 99 aF 1 wiigwa 99% o
e 21 7

Options:
1 9
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Correct Marks: 4 WrongMarks: 1

eyl =l 245 9uid s 1o d-HlL deusHl
99% 2l 948 Sl iz @15 Mucld Russid wlsul
sl sedl sz Gondl w7

Options:
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Correct Marks: 4 Wrong Marks: 1

1

= Sy By B
If cos  x—cos i=u,where—l£x&1,

-2 =y =<2 x=

3 =

, then for all x, y,

ixz—alxy cosa + yz is equal to :
Options:
. 2 sin‘o

- 7
4 sin“a— 2xy~

2
= 4 sinZu
4 4 cosZo + Exllf

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 Wrong Marks: 1

ofz cos 1 x CDS_I% =a, W&l -1=sx=1,

-2=<y=<2 l’—% %,Fﬁﬂ"ﬁl,yr%ﬁm

%E—Mycosrx-f-yzw% :
Options:

T

N 2 sin

o 4 sina— 21*3];2

¥ . |
= 4 sin



4 4 cosa + 2:;3];3
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Correct Marks: 4 Wrong Marks: 1
- = o 1 =
sd cos ! x—cos I%:u il —1=x=1,

¥y - * %

—-Z=sy=52 I'E‘E,rii Heds x, y HE

437 - 4xy cosa +y2 ==
Options:
2 sina

1

o 4 sina— 2x%y?

5 4 sinZa

4 4 cosa + 2:;3];3

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The angles A, B and C of a triangle ABC

are in AP. and a : b=1: 3. If
c=4 cm, then the area (in sq.cm) of this
triangle is :

Options:

52
3

o
<
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TF A ABCHFFMA, B a1 C HHiW
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& o1 o8 e = deree (99 T ) ¥

Options:

2
4 V3
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[Bsel ABC L wuuzll A, B 21 C H¥ici
ol & s a:b=1: 3 &. st c=4 Wl

S

i ol Bislod s (el - 8,

Options:

2
4 N3
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The negation of the Boolean expression
~gv (~r~s) is equivalent to :

Options:

g’  §
1, N¥



~5A~T
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EE:I =HAF ~ sv(~ras) IEEEERE Rt
foF & Tgea €7

Options:

§w I
1 W

~§A~T
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of@u- [3uel ~sv(~ras) 4 [Adu =i
A HHEH O,

Options:
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